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QUESTION 1

How many different calendars does Oracle 11g support? 

A. 22 

B. 7 

C. 6 

D. 15 

E. 2 

Correct Answer: B 

 

QUESTION 2

Examine the following commands and their output: 

SQL> SELECT ename, sal FROM emp WHERE ename=\\'JAMES\\'; 

ENAME SAL 

JAMES 1050 

SQL> UPDATE emp SET sal=sal+sal*1.2 WHERE ename=\\'JAMES\\'; 1 row updated. 

SQL> SELECT ename, sal FROM emp WHERE ename=\\'JAMES\\'; 

ENAME SAL 

JAMES 2310 

View the exhibit and examine the Flashback Version Query that was executed after the preceding commands. 

What could be the possible cause for the query not displaying any row? 

Exhibit: 
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A. Flashback logging is not enabled for the database. 

B. The changes made to the table are not committed. 

C. Supplemental logging is not enabled for the database. 

D. The database is not configured in ARCHIVELOG mode. 

Correct Answer: B 

 

 

QUESTION 3

View the Exhibit for some of the parameter settings. You start a session and issue the following command: 

SQL>CREATE INDEX emp_ename ON emp(ename) 

TABLESPACE users INVISIBLE; 

What is the outcome of the above command? 

Exhibit: 
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A. The index is not used by the optimizer but is maintained during DML operations. 

B. The index is not used by the optimizer and is not maintained during DML operations. 

C. The index is used by the optimizer only if a hint is specified in the query statement and is maintained during DML
operations. 

D. The index is used by the optimizer only if a hint is specified in the query statement but is not maintained during DML
operations. 

Correct Answer: A 

 

 

QUESTION 4

You issued the following command: 

CREATE GLOBAL TEMPORARY TABLE admin_work_area (startdate DATE, enddate DATE, class CHAR(20)) ON
COMMIT DELETE ROWS TABLESPACE tbs_t1; 

An index is then created on the ADMIN_WORK_AREA temporary table. 

Which two statements are true regarding the TBS_T1 tablespace in the above command? (Choose two.) 

A. It stores only the temporary table but not its indexes. 

B. It stores both the temporary table as well as its indexes. 

C. It must be a nondefault temporary tablespace for the database. 

D. It can be a default or nondefault temporary tablespace for the database. 

E. It must be the default temporary tablespace of the user who issues the command. 

Correct Answer: BD 

 

QUESTION 5

You perform a backup using the following BACKUP command: RMAN> BACKUP AS COMPRESSED BACKUPSET
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DATABASE; Which statement is true of this command? 

A. A different procedure is required to restore a database from compressed backups 

B. The AS COMPRESSED clause of the BACKUP command provided by RMAN is used to create compressed backup
sets and image copies. 

C. Using this command to create backups minimizes the bandwidth consumed 

D. Using this command to create backups improves the performance of the backup process 

Correct Answer: C 
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